RURAL DISTRIBUTION

DRAWING DWG BOM
NUMBER SHT. DRAWING TITLE REV. REV.
B-12-00 1-2 GENERAL INFORMATION AlA -
B-12-10 1-3 SINGLE-PHASE, TAKE-OFF STRUCTURE G 1/B
B-12-11 1-3 SINGLE-PHASE, DOUBLE TAKE-OFF STRUCTURE G 1/B
B-12-12 1-2 REVERSE FROM U/G TO O/H TAKE-OFF ON RADIAL E F
SINGLE-PHASE, OVERHEAD STRUCTURE TO FEED COMMUNITIES FROM A
B-12-13 1-2 B D
RUD LOOP
B-12-15 1-3 | THREE-PHASE, TAKE-OFF STRUCTURE G 1/B
B-12-16 1-3 SINGLE-PHASE, TRIPSAVER Il TAKE-OFF STRUCTURE B AlA
B-12-20 1-2 SINGLE-PHASE, RADIAL FEED CABLE STRUCTURE WITH EXISTING POLE- G |
MOUNTED TRANSFORMER
B-12-21 1-2 SINGLE-PHASE, LOOP FEED CABLE STRUCTURE WITH EXISTING POLE- E F
MOUNTED TRANSFORMER
B-12-22 1-2 RUD SECONDARY TAKE-OFF STRUCTURE E F
B-12-23 1-2 RUD LOOP FEED OVERHEAD TRANSFORMER WITH CUTOUT D E
SINGLE-PHASE, TAKE-OFF STRUCTURE WITH EXISTING OVERHEAD TAP-
B-12-25 - OFF F /B
B-12-36 - RURAL 3@, SOLID BLADE DISCONNECT SINGLE-CIRCUIT REVERSE TAKE- B B/A
OFF STRUCTURE WITH SPARE CONDUCTOR
B-12-37 1-3 RURAL 3@ GOPT TAKE-OFF STRUCTURE WITH SPARE CONDUCTOR C B/B
B-12-38 1-1 CABLE TERMINATION DETAILS -
SaskPower - DISTRIBUTION STANDARDS
APPROVAL DESIGN CHK DRN. PP
L MOEN P PATEL CHKD. LM INDEX

2022/06/08

DATE OF ISSUE: 2022-08-15 DRAWING NO: B-12-INDEX

SHEET 10f1 | REV.Q




BACK TO INDEX PAGE

RURAL UNDERGROUND DISTRIBUTION
GENERAL DESIGN CRITERIA

1. NEW RURAL SERVICES

1.1.

1.2.

RADIAL FEED
THE MAJORITY OF NEW RURAL SERVICES WILL CONSIST OF A RADIAL UNDERGROUND TAP OFF AN
EXISTING SINGLE-PHASE OR THREE-PHASE OVERHEAD LINE.

THE COMPONENTS REQUIRED FOR A RADIALLY FED NEW RURAL SERVICE ARE:
- TAKE-OFF STRUCTURE

- PRIMARY CABLE

- PADMOUNTED TRANSFORMER AND ASSOCIATED ACCESSORIES

- METERING PEDESTAL (FARMS ONLY)

THE STANDARD ENGINEERING PRACTICE IS TO INSTALL A MAXIMUM OF 3 RURAL CUSTOMERS ON
A RADIAL. AFTER 3 CUSTOMERS, CONSIDERATION SHOULD BE GIVEN TO INSTALL A LOOP SYSTEM.

LOOP (ALTERNATE) FEED

NEW RURAL SERVICES WHICH OCCUR WITHIN THE BOUNDARIES OF AN EXISTING RUD PROJECT
OR WHICH ARE IN CLOSE PROXIMITY TO AN EXISTING UNDERGROUND CABLE SHALL BE
INSTALLED AS A LOOP (ALTERNATE) FEED SERVICE. BOTH THE INCOMING (LINE SIDE) AND
OUTGOING (LOAD SIDE) CABLES SHALL BE SPLICED INTO THE EXISTING UNDERGROUND CABLE.

THE COMPONENTS REQUIRED FOR A LOOP (ALTERNATE) FEED NEW FARM SERVICES ARE:
- SPLICES AT TAKE-OFF LOCATION

-  PRIMARY CABLE (TWO RUNS)

-  PADMOUNTED TRANSFORMER AND ASSOCIATED ACCESSORIES

- METERING PEDESTAL (FARMS ONLY)

2. RURAL UNDERGROUND DISTRIBUTION (RUD) PROJECTS

ALL RUD PROJECTS WILL BE DESIGNED AS LOOP (ALTERNATE) FEED SYSTEMS. THEY WILL
GENERALLY TAP OFF A THREE-PHASE OVERHEAD LINE AND WILL ‘LOOP BACK’ ONTO THE SAME
THREE-PHASE OVERHEAD LINE.

EACH PROJECT WILL BE BASED ON THE FOLLOWING GENERAL GUIDELINES (FOR THE WHOLE LOOP):

A MAXIMUM OF 40 CUSTOMERS

A MAXIMUM TOTAL PEAK LOAD OF 400 KVA (27.8A @ 14.4KV)

A MAXIMUM TOTAL CABLE LENGTH OF 40 MILES (64 KM) INCLUDING THE LENGTH OF ALL RADIAL
TAPS WITHIN THE LOOP

THE STANDARD ENGINEERING PRACTICE IS TO INSTALL A MAXIMUM OF 3 RURAL CUSTOMERS ON A
RADIAL TAP WITHIN THE RUD LOOP. AFTER 3 CUSTOMERS, THE RADIAL TAP SHALL BE INTEGRATED
INTO THE RUD LOOP.

THE COMPONENTS REQUIRED FOR A RURAL UNDERGROUND PROJECT ARE:

TAKE-OFF STRUCTURES

PRIMARY CABLE

PADMOUNTED TRANSFORMERS AND ASSOCIATED ACCESSORIES
SWITCHING CUBICLES (IF REQUIRED IN DESIGN)

INDUCTIVE REACTORS

METERING (EXISTING OR METERING PEDESTAL)

REFER TO THE RUD DESIGNERS HANDBOOK FOR FURTHER DESIGN DETAILS.

SaskPower - DISTRIBUTION STANDARDS

APPROVAL DESIGN CHK | DRN. ARU

L. MOEN A. UHREN CHKD. GENERAL INFORMATION
2017-01-12

DATE OF ISSUE:  2017/05/03 DRAWING NO: B-12-00 SHEET 1 of 2 REV. A




DESIGN COMPONENTS

THE DESIGN COMPONENTS FOR THE RUD SYSTEM ARE AS FOLLOWS:
- O/HTO U/G TAKE-OFF STRUCTURES — SECTION B-12-XX

- UNDERGROUND PRIMARY CABLE — SECTION B-26-XX

- PADMOUNTED TRANSFORMERS — SECTION B-08-XX

- SWITCHING CUBICLES — SECTION B-26-XX

- INDUCTIVE REACTORS — SECTION B-26-XX

- METERING — SECTION B-24-XX

CABLE LOCATION
CABLE ROUTES SHALL BE SELECTED TO OPTIMIZE CABLE REQUIREMENTS AND TO REDUCE THE
NUMBER OF CABLE CROSSINGS REQUIRED.

DEVIATIONS FROM THE GUIDELINES RECOMMENDED BELOW MAY BE CONSIDERED TO ACCOMMODATE
PHYSICAL AND TOPOGRAPHICAL FEATURES IN THE AREA.

UNDERGROUND POWER CABLE SHALL GENERALLY BE LOCATED PARALLEL TO ROAD ALLOWANCE
CENTER LINES, SECTION LINES, AND QUARTER MILE LINES (IE. ON THE SQUARE) WHEREVER
POSSIBLE.

WHERE PARALLELING A ROAD ALLOWANCE AND WHEREVER PRACTICAL (IE. NO PHYSICAL
OBSTRUCTIONS), MAINTAIN A MINIMUM DISTANCE FROM THE ROAD ALLOWANCE CENTER LINE OF 50m
(164"). IF DEVIATIONS FROM THE 50m DISTANCE ARE REQUIRED, MAKE SUCH DEVIATION IN
INCREMENTS OF 5m (16.4°) TO ALLOW FOR GOOD AS-BUILT DRAWINGS AND FUTURE CABLE/FAULT
LOCATING.

WHERE PARALLELING A BOUNDARY LINE OTHER THAN A ROAD ALLOWANCE (IE. SECTION LINES,
QUARTER MILE LINES), MAINTAIN A MINIMUM DISTANCE FROM BOUNDARY LINE OF 5m (16.4").

IF DEVIATIONS FROM THE 5m DISTANCE ARE REQUIRED, MAKE SUCH DEVIATION IN 5m INCREMENTS.

DEPTH OF COVER
MINIMUM REQUIRED DEPTH OF COVER OVER THE CABLE SHALL BE ONE METRE.

SaskPower - DISTRIBUTION STANDARDS

APPROVAL DESIGN CHK DRN. ARU

L. MOEN A. UHREN CHKD. GENERAL INFORMATION
2017-01-12

DATE OF ISSUE:  2017/05/03 DRAWING NO: B-12-00 SHEET 2 of 2 | REV. A

39Vd X3adNI OL XOvd



BILL OF MATERIAL

|-||\—l|(53|\/| CI\(])OD_E QUANTITY DESCRIPTION
1 11202 2 BOLT — MACHINE — 1/2" X 2"
2 11312 2 BOLT - MACHINE - 5/8" X 12"
3 13409 3 GUARD — CABLE — PLASTIC - 2-1/2" X 8
4 13411 1 GUARD — CABLE — STEEL - 2-1/2" X 8
5 135 XX 1 BRACKET — CABLE POSITIONER
6 13531 2 BRACKET - "T" FOR ARRESTORS & CUTOUTS
7 17812 2 SCREW = LAG — 1/2" X 4-1/2"
8 178 38 6 SCREW - LAG - 3/8" X 4"
9 18501 1/41b | STAPLE — FENCE — 1-3/4"
10 193 27 2 WASHER - DOUBLE COIL — 5/8”
11 19330 4 WASHER — ROUND - 9/16"
12 19342 2 WASHER — SQUARE — 2-1/4” X 13/16" HOLE
13 20270 1 CLAMP — LIVELINE
14 20282 1 CLAMP — BAIL — #6 TO 1/0 ACSR
15 21262 1 CUTOUT - LOADBREAK — 27 kV — 100 AMP (SEE NOTE 1)
16 28302 3m | WIRE-CU-#2-7STR
17 28304 8m | WIRE-CU-#4-7STR
18 509 27 1 CONNECTOR — COMPRESSION — AL
19 512 06 1 CONNECTOR - CU - 4C4
20 546 18 2 LEAD STRAP
21 60221 1 SURGE ARRESTER - 21 kV (RURAL)
22 738 XX 1 FUSE LINK — BUTTON HEAD — TYPE “T”
23 76964 0.28 | SCREWS - WOOD - #14 X 2-1/2" (100/BOX)
24 8 35 36 1 TERMINATOR - #2 AL
25 7135 00 1 CABLE PREP KIT
MATERIAL LIST CONTINUED ON SHEET 3
SaskPower - DISTRIBUTION STANDARDS
APPROVAL DESIGN CHK DRN. PP SINGLE-PHASE
L MOEN PPATEL gonKz?biTw TAKE-OFF STRUCTURE

DATE OF ISSUE:

2022-08-15 DRAWING NO: B-12-10

SHEET 1 OF 3

REV.

49Vd X3ANI O1 Movd



BACK TO INDEX PAGE

900 TO

BRACKET
/. BOLT

POLE MOUNT

CUTOUT POLE LINE

ARRESTER

MINIMUM
BENDNG ——— | TERMINATOR
RADIUS 300 TOP VIEW

ATTACH GROUND WIRE TO TERMINATOR

— BRACKET.

e

(FACING ROAD)

I

GUARD TO BE BUILT ON
SIDE AWAY FROM FIELD I:’r-‘

NOTES:

N

— 300

GROUND GRID

TYPE A

RTTTANNN. {77A7X

GROUND BOTTOM OF CABLE
GUARD TO GROUND ROD

STRUCTURE NOT TO BE PLACED ON POLE WITH TRANSFORMER.

2. TRENCH FOR CABLE TAKE—OFF TO BE IN LINE WITH OH CIRCUIT FOR AT LEAST FOUR (4) METERS
TO HELP AVOID POLE LEAN DUE TO TRENCH BACKFILL.

3. REFER TO B-12-38 FOR TERMINATION DETAILS.

4. ALL DIMENSIONS ARE IN MILLIMETERS UNLESS OTHERWISE INDICATED.

SCALE: N.T.S.

B12_10_02
SaskPower — DISTRIBUTION STANDARDS
APPROVAL DESIGN CHK. DRN.D.REDEKOPP SINGLE—=PHASE
L.MOEN 0.FRANCIS CHKD. TAKE—OFF STRUCTURE
2020-08-19

DATE OF ISSUE 2021-01-20

DRAWING NO. B—12-10

SHEET 2 of 3 REV. G




BILL OF MATERIAL

|-||\—l|(53|\/| CI\(])OD_E QUANTITY DESCRIPTION
26 | 05385151 . TAG HOLDER — ALUMINUM — FOR 10 — 1" TAGS (SEE NOTE 3)
27 | 0538520% : TAG — NUMBER — YELLOW (SEE NOTE 3)
27 | 05385209 : TAG — DASH - YELLOW (SEE NOTE 3)
27 | 0538525X% . TAG — LETTER — YELLOW (SEE NOTE 3)
28 | 0563832X 5 DECAL — NUMBER - BLACK - 1-1/2" (SEE NOTE 2)
28 | 05638329 1 DECAL — DASH — BLACK — 1-1/2" (SEE NOTE 2)
28 | 05638 4XX 3 DECAL — LETTER - BLACK — 1-1/2" (SEE NOTE 2)
29 | 05640000 1 SIGN — DANGER — HIGH VOLTAGE
30 | 05640006 1 SIGN — BLANK — REFLECTIVE - 3" X 18" (SEE NOTE 2)
31 | 05646582 1 DECAL — WATCH FOR WIRES
NOTES:
1. LOADBREAK CUTOUT IS CAPABLE OF ACCOMMODATING UP
TO 2/0 CU (STOCK CODE 28320). HOWEVER, THE
CONNECTORS, TERMINATOR SIZE & RISER AMPACITY MUST
MATCH THE UNDERGROUND CABLE. THE RISER TO THE
SURGE ARRESTOR MUST REMAIN #2 CU DUE TO SIZE
RESTRICTIONS.
2. REFER TO A-30-05 FOR APPLICABLE STOCK CODES &
MOUNTING DETAILS. CONFIGURATOR DEFAULTS TO
THIS OPTION.
3. WHEN SPACE IS AN ISSUE THIS TAG HOLDER MAY BE
USED INSTEAD OF THE REFLECTIVE SIGN. REFER TO
A-30-05 FOR MOUNTING DETAILS & B-30-26 FOR
APPLICABLE STOCK CODES.
SaskPower - DISTRIBUTION STANDARDS
APPROVAL DESIGN CHK DRN. PP SINGLE-PHASE
L MOEN PPATEL goH;;biTﬂ TAKE-OFF STRUCTURE

DATE OF ISSUE: 2022-08-15 DRAWING NO: B-12-10 SHEET 3 OF 3 REV. B

39Vd X3dANI O1 MOvd



BILL OF MATERIAL

ILI(E)M Cl\(l)OD.E QUANTITY DESCRIPTION
1 108 38 4 BOLT - CARRIAGE - 3/8" X 4-1/2"
2 11202 4 BOLT — MACHINE - 1/2” X 2”
3 11318 2 BOLT — MACHINE - 5/8" X 18"
4 11932 4 BRACE — CROSSARM — FLAT - 32"
5 12910 2 CROSSARM - 4" X 5" X 10'
6 132 86 2 POLE GAIN - WOOD
7 13409 3 GUARD - CABLE - PLASTIC - 2-1/2" X 8
8 13411 1 GUARD - CABLE - STEEL - 2-1/2" X 8
9 135 XX 2 BRACKET — CABLE POSITIONER
10 13532 4 BRACKET — CROSSARM
11 17812 2 SCREW - LAG -1/2” X 4-1/2”
12 17838 6 SCREW - LAG - 3/8" X 4"
13 18501 1/4 1b STAPLE - FENCE - 1-3/4"
14 19322 4 WASHER - LOCK -1/2”
15 19325 4 WASHER - LOCK - DOUBLE COIL - 3/8”
16 19327 2 WASHER - LOCK — DOUBLE COIL - 5/8”
17 19330 4 WASHER - ROUND - 9/16”
18 19342 4 WASHER - SQUARE - 2-1/4” X 13/16" HOLE
19 20282 2 CLAMP - BAIL —#6 TO 1/0 ACSR
20 20270 2 CLAMP - LIVELINE
21 21262 2 CUTOUT - LOADBREAK - 27 kV — 100 A (SEE NOTE 1)
22 28302 6m WIRE - CU -#2 -7 STR
23 28304 9m WIRE-CU-#4 -7 STR
24 509 27 2 CONNECTOR - AL = CRIMPIT — #3-1/0 TO #6-#2
25 512 06 3 CONNECTOR - CU - 4C4
26 546 18 2 LEAD STRAP
27 60221 2 ARRESTER SURGE - 21 kV (RURAL)
28 7 38 XX 2 FUSE LINK — BUTTON HEAD - TYPE “T”
29 7 69 64 0.32 SCREWS - WOOD - #14 X 2-1/2" (100/BOX)
MATERIAL LIST CONTINUED ON SHEET 3
SaskPower - DISTRIBUTION STANDARDS
APPROVAL DESIGN CHK | DRN. PP SINGLE-PHASE
L MOEN P PATEL CHKD. LM DOUBLE
2022-01-07 TAKE-OFF STRUCTURE
DATE OF ISSUE: 2022-08-15 DRAWING NO: B-12-11 SHEET 1 OF 3 REV.

39Vd X3dNI OL MOvd



BACK TO INDEX PAGE

:

L BRACKET

CROSSARM

SECTION A—A
N.T.S

TRENCH FOR CABLE TAKE-OFFS TO BE IN LINE
WITH OH CIRCUIT FOR AT LEAST FOUR (4)
METERS TO HELP AVOID POLE LEAN DUE TO
TRENCH BACKFILL

CuTouT

«. T ARRESTER

AN

T ' TERMINATOR |
GUARD TO BE BUILT ON B 225 TOP VIEW 225
SIDE AWAY FROM FIELD. 1.5m
GROUND BOTTOM OF CABLE
GUARD TO GROUND ROD. INSURE SUFFICIENT CABLE SLACK AT
BASE OF POLE IN CASE OF
N\C77ANI77R TERMINATOR FAILURE.
| | 300

GROUND GRID TYPE A F™7

NOTE:

1. FOR DEADEND STRUCTURE, TURN CUTOUT AND TERMINATOR ARMS 90°, SO THAT THE TERMINATOR

CROSSARM IS UNDER THE GUY WIRE.

2. ARRESTERS ARE SHOWN OFFSET FOR CLARITY, REFER TO TOP VIEW FOR CORRECT ARRESTER LOCATION.
3. REFER TO B—12-38 FOR TERMINATION DETAILS.
4. ALL DIMENSIONS ARE IN MILLIMETERS UNLESS OTHERWISE INDICATED.
SCALE: N.T.S. B12_11_02
SaskPower — DISTRIBUTION STANDARDS
APPROVAL DESIGN CHK. |DRN.D.REDEKOPP SINGLE—PHASE
L.MOEN 0.FRANCIS CHKD. DOUBLE
2020-08-25 TAKE—-OFF STRUCTURE
DATE OF ISSUE 2021-01-20 |[DRAWING NO. B—12—11 SHEET 2 of 3 REV. G




BILL OF MATERIAL

ILI(E)M Cl\(l)OD.E QUANTITY DESCRIPTION
30 83536 2 TERMINATOR - #2 AL
31 713500 2 CABLE PREP KIT
32 05 385 151 - TAG HOLDER — ALUMINUM - FOR 10 - 1" TAGS (SEE NOTE 3)
33 05 385 20X - TAG — NUMBER - YELLOW (SEE NOTE 3)
33 05 385 209 - TAG — DASH - YELLOW (SEE NOTE 3)
33 05 385 25X - TAG - LETTER - YELLOW (SEE NOTE 3)
34 05 638 32X 3 DECAL — NUMBER - BLACK - 1-1/2" (SEE NOTE 2)
34 05 638 329 1 DECAL — DASH - BLACK - 1-1/2" (SEE NOTE 2)
34 05 638 4XX 5 DECAL — LETTER - BLACK -1-1/2" (SEE NOTE 2)
35 05 640 000 2 SIGN — DANGER - HIGH VOLTAGE
36 05 640 006 1 SIGN — BLANK — REFLECTIVE - 3" X 18" (SEE NOTE 2)
37 05 646 582 1 DECAL — WATCH FOR WIRES
NOTES:
1. LOADBREAK CUTOUT IS CAPABLE OF ACCOMMODATING UP
TO 2/0 CU (STOCK CODE 28320). HOWEVER, THE
CONNECTORS, TERMINATOR SIZE & RISER AMPACITY MUST
MATCH THE UNDERGROUND CABLE. THE RISER TO THE
SURGE ARRESTOR MUST REMAIN #2 CU DUE TO SIZE
RESTRICTIONS.
2. REFER TO A-30-05 FOR APPLICABLE STOCK CODES &
MOUNTING DETAILS. CONFIGURATOR DEFAULTS TO
THIS OPTION.
3. WHEN SPACE IS AN ISSUE THIS TAG HOLDER MAY BE
USED INSTEAD OF THE REFLECTIVE SIGN. REFER TO
A-30-05 FOR MOUNTING DETAILS & B-30-26 FOR
APPLICABLE STOCK CODES.
SaskPower - DISTRIBUTION STANDARDS
APPROVAL DESIGN CHK | DRN. PP SINGLE-PHASE
L MOEN P PATEL CHKD. LM DOUBLE
2022-01-07 TAKE-OFF STRUCTURE

DATE OF ISSUE:

2022-08-15 DRAWING NO: B-12-11 SHEET 3 OF 3 REV. B

39Vd X3dNI OL Movd



BILL OF MATERIAL

ILI(E)M C,\?g'E QUANTITY DESCRIPTION

1 11202 2 BOLT — MACHINE - 1/2" X 2"

2 11312 1 BOLT — MACHINE - 5/8" X 12"

3 13409 3 GUARD - CABLE - PLASTIC - 2-1/2" X 8'

4 13411 1 GUARD - CABLE - STEEL - 2-1/2" X 8'

5 1 35 XX 1 BRACKET - CABLE POSITIONER

6 13531 1 BRACKET - "T" FOR ARRESTORS & CUTOUTS

7 17812 1 SCREW - LAG - 1/2" X 4-1/2"

8 17838 6 SCREW - LAG - 3/8" X 4"

9 18501 1/41b | STAPLE - FENCE - 1-3/4"

10 19322 2 WASHER - LOCK — 1/2"

1 19327 1 WASHER - LOCK - 5/8”

12 19330 2 WASHER - ROUND - 9/16"

13 193 42 1 WASHER - SQUARE - 2-1/4” X 2-1/4” X 13/16" HOLE

14 28302 3m WIRE - CU - #2/7 STR

15 28304 8m WIRE - CU - #4/7 STR

16 509 27 2 CONNECTOR - AL — CRIMPIT - #3-1/0 TO #6-#2

17 512 06 1 CONNECTOR - CU - 4C4

18 546 18 2 LEAD STRAP

19 6 02 21 1 SURGE ARRESTER - 21 (RURAL)

20 7 69 64 0.26 SCREW — WOOD - #14 X 2-1/2" (100/BOX)

21 8 35 36 1 TERMINATOR - #2 AL

22 71 3500 1 CABLE PREP KIT

23 05 640 000 1 SIGN - DANGER “HIGH VOLTAGE”

24 05 646 582 1 DECAL - WATCH FOR WIRES

SaskPower - DISTRIBUTION STANDARDS

APPROVAL DESIGN CHK | DRN. OFF REVERSE FROM U/G TO
L MOEN O FRANCIS — '1'_'20 O/H TAKE-OFF ON RADIAL
DATE OF ISSUE: 2021-01-20 DRAWING NO: B-12-12 SHEET1OF 2 | REV. F

39Vd X3dNI OL MOvd



BACK TO INDEX PAGE

STRUCTURE USED HERE

LOAD SOURCE
\
\ —-—--- -
\
\\ 900 TO
« POLE MOUNT
\ BRACKET
\ BOLT

\
\
MINIMUM \@
BENDING !
RADIUS 300
ea—Th 9

1/

i ™~

TERMINATOR
TOP VIEW

NN\ /A AN S ANNY.

ZANN V7 AN\ 7 7 i

GROUND GRID TYPE A r=---1

NOTES:

REFER TO A-12-05 FOR DEAD END.
BRACKET AND CABLE GUARD ARE GROUNDED.

STRUCTURE NOT TO BE PLACED ON POLE WITH TRANSFORMER.

REFER TO B-12-38 FOR TERMINATION DETAILS.

ISRl

SCALE: N.T.S.

ALL DIMENSIONS ARE IN MILLIMETERS UNLESS OTHERWISE INDICATED.

B12_12_02

SaskPower — DISTRIBUTION STANDARDS

APPROVAL
L.MOEN

DESIGN CHK.
O.FRANCIS

DRN.D.REDEKOPP
CHKD.

REVERSE FROM U/G TO O/H
TAKE—OFF ON RADIAL

2020-08-26

DATE OF ISSUE 2021-01-20

DRAWING NO. B—12-12 SHEET 2 of 2 |REV. E




BILL OF MATERIAL

ILI(E)M C,\?g'E QUANTITY DESCRIPTION
1 11202 3 BOLT — MACHINE - 1/2" X 2"
2 11312 1 BOLT — MACHINE - 5/8" X 12"
3 13409 3 GUARD - CABLE - PLASTIC - 2-1/2" X 8'
4 13411 1 CABLE - GUARD - STEEL - 2-1/2" X 8'
5 135 XX 2 BRACKET — CABLE POSITIONER
6 13533 1 BRACKET — RUD FOR ARRESTOR, CUTOUT & TERMINATOR
7 13535 1 BRACKET — INSULATING GUARD
8 17812 1 SCREW - LAG - 1/2" X 4-1/2"
9 178 38 6 SCREW - LAG - 3/8" X 4"
10 185 01 1/41b | STAPLE — FENCE - 1-3/4"
11 19322 3 WASHER - LOCK - 1/2”
12 19327 1 WASHER - LOCK - DOUBLE COIL - 5/8”
13 193 30 2 WASHER - ROUND - 1-3/8" X 9/16" HOLE
14 19333 2 WASHER - ROUND - 1-3/4" X 11/16" HOLE
15 19342 1 WASHER - SQUARE - 2-1/4” X 2-1/4” X 13/16" HOLE
16 28302 2m WIRE - CU - #2/7 STR
17 28304 4m WIRE - CU - #4/7 STR
18 28402 1m WIRE - CU - #2 SOLID
19 506 97 2 FAULT INDICATOR — LOGIC CONTROLLED 4 STEP
20 509 27 1 CONNECTOR - AL - CRIMPIT - #3-1/0 TO #6-#2
21 51115 2 INSULINK - ORANGE/ORANGE
22 51201 3 CONNECTOR - CU - 2C2
23 51208 2 CONNECTOR - CU - 2C4
24 546 18 2 LEAD STRAP
25 6 02 21 1 ARRESTER SURGE - 21 kV (RURAL)
26 7 69 64 0.26 SCREW - WOOD - #14" X 2-1/2" (100/BOX)
27 8 35 36 2 TERMINATOR — #2 AL
28 71 3500 2 CABLE PREP KIT
29 05 640 000 1 SIGN - DANGER HIGH VOLTAGE
30 05 641 535 1 DECAL - DANGER UNDERGROUND CABLE
SaskPower - DISTRIBUTION STANDARDS
APPROVAL DESIGN CHK | DRN. OFF SINGLE-PHASE, OVERHEAD STRUCTURE
L MOEN O FRANCIS | CHKD. LM TO FEED COMMUNITIES FROM A RUD
2020-12-02 LooP
DATE OF ISSUE: 2021-01-20 DRAWING NO: B-12-13 SHEET10F2 | REV. D

39Vd X3dNI OL MOvd



BACK TO INDEX PAGE

O_

—@ O
—

IN' LINE CUTOUT
NEXT STRUCTURE
(A-26-03)

3¢

STRUCTURE USED HERE
s e
1425 TO///////;ﬂ

POLE MOUNT
BRACKET
B
/

/

7“

LOAD
=% BENDING
24126 il RADIUS 300
TERMINATORS ARRESTER
\N
co
>
1
{ E\
RS,
1.5m -
777 R AT T AT, VAN "¢
300

100

1.0m E -1

i/ ek
GROUND GRID NOTES:

TYPE A — 1. STRUCTURE TO BE USED TO FEED COMMUNITIES FROM A RUD LOOP.
2. REFER TO A—12-05 FOR DEADEND.
3. BRACKET AND CABLE GUARD ARE GROUNDED.
4. REFER TO B-12-38 FOR TERMINATION DETAILS.
5. ALL DIMENSIONS ARE IN MILLIMETERS UNLESS OTHERWISE INDICATED.
SCALE: N.T.S. B12_13_02

SaskPower — DISTRIBUTION STANDARDS

APPROVAL DESIGN CHK. |DRN.D.REDEKOPP| SINGLE PHASE, OVERHEAD STRUCTURE
L.MOEN 0.FRANCIS CHKD. TO FEED COMMUNITIES FROM
2020-08—-27 A RUD LOOP

DATE OF ISSUE 2021-01-20 DRAWING NO. B—12-13 SHEET 2 of 2 REV. B




BILL OF MATERIAL

|-||\—l|(53|\/| CI\(])OD_E QUANTITY DESCRIPTION
1 11202 6 BOLT — MACHINE — 1/2” X 2”
2 108 38 2 BOLT - CARRIAGE — 3/8" X 4-1/2"
3 11318 2 BOLT - MACHINE - 5/8" X 18"
4 11932 4 BRACE — CROSSARM — FLAT - 32"
5 12910 2 CROSSARM — 4" X 5" X 10'
6 13286 2 POLE GAIN — WOOD
7 13408 3 GUARD — CABLE — PLASTIC - 4" X 8
8 13410 1 GUARD - CABLE — STEEL - 4" X 8
9 135 XX 3 BRACKET — CABLE POSITIONER
10 13532 6 BRACKET — CROSSARM
11 17812 4 SCREW - LAG — 1/2” X 4-1/2”
12 17838 6 SCREW — LAG — 3/8” X 4"
13 18501 1/41b | STAPLE - FENCE - 1-3/4"
14 19322 6 WASHER - LOCK — 1/2”
15 19325 2 WASHER - LOCK — DOUBLE COIL - 3/8”
16 193 27 2 WASHER — LOCK - DOUBLE COIL — 5/8”
17 19330 6 WASHER — ROUND - 9/16” HOLE
18 19342 2 WASHER — SQUARE — 2-1/4” X 13/16" HOLE
19 20282 3 CLAMP — BAIL — #6 TO 1/0 ACSR
20 20270 3 CLAMP — LIVELINE
21 21262 3 CUTOUT - LOADBREAK — 27 kV — 100 A (SEE NOTE 1)
22 28302 9m | WIRE-CU-#2-7STR
23 28304 11m | WIRE-CU-#4-7STR
24 509 27 3 CONNECTOR — AL — CRIMPIT — #3-1/0 TO #6-#2
25 512 06 6 CONNECTOR - CU - 4C4
26 546 18 2 LEAD STRAP
27 602 21 3 SURGE ARRESTER - 21 kV (RURAL)
28 738 XX 3 FUSE LINK — BUTTON HEAD — TYPE “T”
29 76964 0.30 | SCREWS — WOOD - #14 X 2" HEX HEAD (100/BOX)
30 8 35 XX 3 TERMINATOR - CABLE
31 7135 00 2 CABLE PREP KIT
MATERIAL LIST CONTINUED ON SHEET 3
SaskPower - DISTRIBUTION STANDARDS
APPROVAL DESIGN CHK DRN. PP THREE-PHASE
L MOEN PPATEL goH;;biTﬂ TAKE-OFF STRUCTURE

DATE OF ISSUE:

2022-08-15

DRAWING NO: B-12-15

SHEET 10F 3

REV.

49Vd X3ANI OL MOvd



BACK TO INDEX PAGE

1.2m

CUTOUT

/XL BRACKET

—
il D
CROSSARM
(27) D
SECTION A—A
N.T.S

TRENCH FOR CABLE TAKE-OFFS TO BE IN
LINE WITH OH CIRCUIT FOR AT LEAST
FOUR (4) METERS TO HELP AVOID POLE
LEAN DUE TO TRENCH BACKFILL

0 4

(FACING ROAD) =

| /
o |=]
o
q@_ %\4 ARRESTER l,/

@
@

GUARD TO BE BUILT ON
SIDE AWAY FROM FIELD

GROUND BOTTOM OF CABLE
GUARD TO GROUND ROD

1l
|——

1.5m 150

LV;ERMINATOR

¢460J

TOP VIEW

NN/ /A AN ANN /| NV AN S/ A ANN

300

100

GROUND GRID ™77
TYPE A —

Ce—La
3

NOTES:
FOR FEEDER DIPS USE DRAWING B—14-16.

%

FOR DEADEND STRUCTURE, THE TERMINATOR CROSSARM IS UNDER THE GUY WIRE.

1
2.
5. ARRESTERS ARE SHOWN OFFSET FOR CLARITY, REFER
4.

TO TOP VIEW FOR CORRECT ARRESTER LOCATION.

FRAMING ON A NEW STRUCTURE, THE PREFERRED LOCATION FOR THE ARRESTER ARM IS UNDER THE
CONDUCTOR ARM. THE ARRESTER ARM AND TERMINATOR ARM MAY BE TURNED 90 FOR CORRECT

PHASING.
5. REFER TO B-12-38 FOR TERMINATION DETAILS.

6. ALL DIMENSIONS ARE IN MILLIMETERS UNLESS OTHERWISE INDICATED.

SCALE: N.T.S. B12_15_02
SaskPower — DISTRIBUTION STANDARDS
APPROVAL DESIGN CHK. DRN.D.REDEKOPP THREE —PHASE
L.MOEN 0.FRANCIS CHKD. TAKE—OFF STRUCTURE
2020-08-27
DATE OF ISSUE 2021-01-20 |DRAWING NO. B—12-15 SHEET 2 of 3 REV. G




BILL OF MATERIAL

|-||\—l|(53|\/| CI\(])OD_E QUANTITY DESCRIPTION
32 | 05385151 . TAG HOLDER — ALUMINUM — FOR 10 — 1" TAGS (SEE NOTE 3)
33 | 0538520X . TAG — NUMBER — YELLOW (SEE NOTE 3)
33 | 05385209 . TAG — DASH - YELLOW (SEE NOTE 3)
33 | 0538525X . TAG — LETTER — YELLOW (SEE NOTE 3)
34 | 0563832X 5 DECAL — NUMBER - BLACK — 1-1/2" (EE NOTE 2)
34 | 05638329 1 DECAL — DASH — BLACK — 1-1/2" (SEE NOTE 2)
34 | 05638 4XX 3 DECAL — LETTER - BLACK — 1-1/2" (SEE NOTE 2)
35 | 05640000 1 SIGN — DANGER — HIGH VOLTAGE
36 | 05640006 1 SIGN — BLANK — REFLECTIVE - 3" X 18" (SEE NOTE 2)
37 | 05646582 1 DECAL — WATCH FOR WIRES
NOTES:
1. LOADBREAK CUTOUT IS CAPABLE OF ACCOMMODATING UP
TO 2/0 CU (STOCK CODE 28320). HOWEVER, THE
CONNECTORS, TERMINATOR SIZE & RISER AMPACITY MUST
MATCH THE UNDERGROUND CABLE. THE RISER TO THE
SURGE ARRESTOR MUST REMAIN #2 CU DUE TO SIZE
RESTRICTIONS.
2. REFER TO A-30-05 FOR APPLICABLE STOCK CODES &
MOUNTING DETAILS. CONFIGURATOR DEFAULTS TO
THIS OPTION.
3. WHEN SPACE IS AN ISSUE THIS TAG HOLDER MAY BE
USED INSTEAD OF THE REFLECTIVE SIGN. REFER TO
A-30-05 FOR MOUNTING DETAILS & B-30-26 FOR
APPLICABLE STOCK CODES,
SaskPower - DISTRIBUTION STANDARDS
APPROVAL DESIGN CHK DRN. PP THREE-PHASE
L MOEN PPATEL goH;;biTﬂ TAKE-OFF STRUCTURE

DATE OF ISSUE:

2022-08-15 DRAWING NO:  B-12-15 SHEET 3 OF 3 REV. B

349Vd X3ddANI OL MOvd



BILL OF MATERIAL

IL%M C,\?g'E QUANTITY DESCRIPTION
1 112 02 3 BOLT — MACHINE - 1/2" X 2"
2 11312 3 BOLT — MACHINE - 5/8" X 12"
3 13409 3 GUARD - CABLE - PLASTIC — 2-1/2" X 8'
4 13411 1 GUARD - CABLE - STEEL - 2-1/2" X 8'
5 135 XX 1 BRACKET - CABLE POSITIONER
6 13531 3 BRACKET - "T" FOR ARRESTORS & CUTOUTS
7 17812 3 SCREW - LAG - 1/2" X 4-1/2"
8 17838 6 SCREW - LAG - 3/8" X 4"
9 185 01 1/4 1b STAPLE - FENCE - 1-3/4"
10 193 27 3 WASHER - DOUBLE COIL - 5/8”
11 193 30 6 WASHER - ROUND - 9/16"
12 19342 3 WASHER - SQUARE - 2-1/4” X 2-1/4” X 13/16" HOLE
13 20270 1 CLAMP - LIVELINE
14 202 82 1 CLAMP - BAIL - #6-1/0 ASCR
15 21262 1 CUTOUT - LOADBREAK - 27 kV - 100 AMP
16 212 67 1 CUTOUT - NON-LOADBREAK - 27 kV - 100 AMP
17 244 50 1 RECLOSER - TRIPSAVERI Il
18 28302 5m WIRE - CU - #2/7 STR
19 28304 8m WIRE - CU - #4/7 STR
20 509 27 1 CONNECTOR - COMPRESSION - AL
21 512 06 1 CONNECTOR -CU -4C4
22 546 18 2 LEAD STRAP
23 602 21 1 SURGE ARRESTER - 21 kV (RURAL)
24 7 38 98 1 FUSELINK - 200 AMP
25 7 69 64 0.28 SCREW - WOOD - #14 X 2-1/2" (100/BOX)
26 8 35 36 1 TERMINATOR - #2 AL
27 713500 1 CABLE PREP KIT
MATERIAL LIST CONTINUED ON SHEET 3
SaskPower - DISTRIBUTION STANDARDS
APPROVAL DESIGN CHK DRN. OFF
L MOEN O. FRANCIS | CHKD. LM SINGLE-PHASE TRIPSAVER Il

TAKE-OFF STRUCTURE

2020-12-03

DATE OF ISSUE:

2021-01-20 DRAWING NO: B-12-16 SHEET 1 OF 3 | REV. A

39Vd X3dNI OL MOvd



BACK TO INDEX PAGE

900 TO
POLE MOUNT
BRACKET BOLT

LF_)
1314 ]
oM
18 | = 7 4___]
1 79 Z
900
O
1524 2P 900 TO
= POLE MOUNT
BRACKET BOLT
18 ,

MINIMUM o
BENDING\
RADIUS 300

Gy S (25(30)52)
O*% (FACING ROAD)
GUARD TO BE BUILT ON
SIDE AWAY FROM FIELD _ =
)

GROUND BOTTOM OF CABLE
GUARD TO GROUND ROD

NNV /A AN/ ANNY, N/ AN S AA
4 f1OO

~——=-1

GROUND GRID _!
TYPE A =

1. STRUCTURE NOT TO BE PLACED ON POLE WITH TRANSFORMER.
2. TRENCH FOR CABLE TAKE—OFF TO BE IN LINE WITH OH CIRCUIT FOR AT LEAST FOUR (4) METERS
TO HELP AVOID POLE LEAN DUE TO TRENCH BACKEFILL.

3. REFER TO B—12-38 FOR TERMINATION DETAILS.
4, ALL DIMENSIONS ARE IN MILLIMETERS UNLESS OTHERWISE INDICATED.
SCALE: N.T.S.
SaskPower — DISTRIBUTION STANDARDS
APPROVAL DESIGN CHK. DRN.D.REDEKOPP SINGLE—=PHASE
L.MOEN L.MOEN CHKD. TRIPSAVER I
2021-01-06 TAKE—-OFF STRUCTURE

DATE OF ISSUE 2021-01-20 |DRAWING NO. B—12-16 SHEET 2 of 3 REV. B




BILL OF MATERIAL

ILI(E)M C,\?g'E QUANTITY DESCRIPTION
28 05 385 151 - TAG HOLDER — ALUMINUM - FOR 10 — 1" TAGS — SEE NOTE 2
29 05 385 20X - TAG - NUMBER - YELLOW - SEE NOTE 2
29 05 385 209 - TAG - DASH - YELLOW - SEE NOTE 2
29 05 385 25X - TAG - LETTER - YELLOW — SEE NOTE 2
30 05 638 32X 3 DECAL - NUMBER - BLACK - 1-1/2" — SEE NOTE 1
30 05 638 329 1 DECAL - DASH - BLACK - 1-1/2" — SEE NOTE 1
30 05 638 4XX 5 DECAL - LETTER - BLACK - 1-1/2" — SEE NOTE 1
31 05 640 000 2 SIGN - DANGER - HIGH VOLTAGE
32 05 640 006 1 SIGN - BLANK — REFLECTIVE — 3" X 18" — SEE NOTE 1
33 05 646 582 1 DECAL - WATCH FOR WIRES
NOTES:
1. REFER TO A-30-05 FOR APPLICABLE STOCK CODES &
MOUNTING DETAILS. CONFIGURATOR DEFAULTS TO
THIS OPTION.
2. WHEN SPACE IS AN ISSUE THIS TAG HOLDER MAY BE
USED INSTEAD OF THE REFLECTIVE SIGN. REFER TO
A-30-05 FOR MOUNTING DETAILS & B-30-26 FOR
APPLICABLE STOCK CODES.
SaskPower - DISTRIBUTION STANDARDS
APPROVAL DESIGN CHK DRN. OFF SINGLE-PHASE TRIPSAVER I
L MOEN O FRANCIS — ';‘:')2 TAKE-OFF STRUCTURE

DATE OF ISSUE:

2021-01-20

DRAWING NO: B-12-16

SHEET 3 OF 3 REV.

A

39Vd X3dNI OL MOvd



BILL OF MATERIAL

ILI(E)M Cl\(l)OD.E QUANTITY DESCRIPTION
1 11202 1 BOLT - MACHINE - 1/2" X 2"
2 11312 1 BOLT — MACHINE - 5/8" X 12"
3 13409 3 GUARD - CABLE - PLASTIC - 2-1/2" X 8
4 13411 1 GUARD - CABLE - STEEL - 2-1/2" X 8'
5 13533 1 BRACKET — RUD FOR ARRESTOR, CUTOUT & TERMINATOR
6 13534 0 BRACKET — CLEARANCE
7 13535 1 BRACKET — INSULATING GUARD
8 17812 1 SCREW - LAG - 1/2" X 4-1/2"
9 17838 10 SCREW - LAG - 3/8" X 4"
10 18501 1/41b STAPLE - FENCE - 1-3/4"
11 19330 1 WASHER - ROUND - 9/16"
12 19333 2 WASHER - ROUND - 11/16"
13 19342 1 WASHER - SQUARE - 2-1/4” X 13/16" HOLE
14 28304 3m WIRE-CU -#4 -7 STR
15 28402 Im WIRE - CU - #2 SOLID
16 51115 1 INSULINK — ORANGE/ORANGE
17 51201 1 CONNECTOR - CU -2C2
18 512 06 2 CONNECTOR - CU -4C4
19 51208 1 CONNECTOR - CU - 2C4
20 546 18 1 STRAP - LEAD
21 7 37 06 X FUSE LINK — TRIP-O-LINK — 6A
22 7 38 06 X FUSE LINK — BUTTON HEAD - TYPE “T” — 6A
23 7 69 64 0.30 SCREWS - WOOD - #14 X 2-1/2" (100/BOX)
24 83536 1 TERMINATOR - #2 AL
25 71 35 00 1 CABLE PREP KIT
26 05 640 000 2 SIGN - DANGER - HIGH VOLTAGE
27 05 641 535 1 DECAL — DANGER — UNDERGROUND CABLE
NOTE:
1. RE-USE THE FOLLOWING: 2 12 XX CUTOUT, 6 02 XX
ARRESTER, 2 83 02 #2 CU RISER, 2 02 71 LIVELINE CLAMP.
2. IF REQUIRED, USE THE FOLLOWING: 212 20 OR 2 12 67
CUTOUT AS REQ’D, 6 02 21 ARRESTER
SaskPower - DISTRIBUTION STANDARDS
APPROVAL DESIGN CHK | DRN. PP SINGLE-PHASE, RADIAL FEED
L MOEN P PATEL CHKD. LM CABLE STRUCTURE WITH EXISTING

2022-01-07 POLE-MOUNTED TRANSFORMER

DATE OF ISSUE: 2022-08-15 DRAWING NO: B-12-20 SHEET10OF 2 | REV. |

39Vd X3dANI O1 MOvd



BACK TO INDEX PAGE

SPC/AUTODRAF T

CABLE

DISTANCE
BETWEEN
MOUNTING 873

ON POLE CUARD
REPLACEMENT

BOLTS

2.1m
POLE/

EXISTING
// TRANSFORMER

EXISTING

FIELD LOCATE MAINTAINING
A MINIMUM CLEARANCE OF
250mm TO GUY WIRE.

NOTE:

REFER TO A-33 FO
. REFER TO A-24 FO
. CABLE GUARD AND

== GROUND GRID
= TYPE C

R GROUND GRID TYPE.
R FARM METERING.
BRACKETS TO BE GROUNDED.

. INSTALL DANGER SIGNS IF MISSING
FOR POLE LEAN USE A-32-06 DOWN GUY AND A-32-12 ANCHOR AT THE SHORT GUY DISTANCE.

1.
2
3
4. EXISTING ARRESTER TO BE MOVED FROM TRANSFORMER TO BRACKET.
5
6

SCALE: N.T.S.

O

INSURE SUFFICIENT CABLE
SLACK AT BASE OF POLE IN
CASE OF TERMINATOR
FAILURE

ALL DIMENSIONS ARE IN MILLIMETRES UNLESS OTHERWISE INDICATED

SaskPower - DISTRIBUTION STANDARDS
DRN. DESIGN CHK. APPROVAL SINGLE PHASE, RADIAL FEED CABLE
CHKD. STRUCTURE WITH EXISTING
DATE DATE DATE POLE—MOUNTED TRANSFORMER

DATE OF ISSUE 2007/04/16

DRAWING NO. B-12-20

SHEET 2 of 2 REV. G




BILL OF MATERIAL

'L%""' C,\?g E QUANTITY DESCRIPTION
1 1-13-12 1 BOLT MACHINE - 5/8" x 12"
2 1-34-11 1 CABLE GUARD STEEL -2 1/2" x 8'
3 1-35-33 1 BRACKET POLE - MOUNT
4 1-78-12 1 SCREW LAG -1/2" x 4 1/2"
5 1-78-38 8 SCREW LAG - 3/8" x 4"
6 1-85-01 1/4 1b STAPLE FENCE -1 3/4"
7 1-93-30 2 WASHER ROUND - 9/16"
8 1-93-42 1 WASHER SQUARE -2 ',” x 2 ¥4” x 13/16" HOLE
9 2-83-04 4m WIRE CU - #4/7 STR
10 2-84-02 1m WIRE CU - #2 SOLID
1 5-11-15 2 INSULINK - ORANGE/ORANGE
12 5-12-06 2 CONNECTOR CU-YC4C4
13 5-46-18 2 STRAP LEAD
14 7-69-64 0.10 SCREW WOOD - #14 x 2 1/2" (100/BOX)
15 8-35-36 2 TERMINATOR - #2 AL
16 05-640-000 2 SIGN - DANGER HIGH VOLTAGE
17 05-641-535 1 SIGN SELF-ADHESIVE - DANGER UNDERGROUND CABLE
18 5-12-01 2 CONNECTOR CU-YC2C2
19 1-12-02 3 BOLT MACHINE - 1/2" x 2"
20 1-93-33 2 WASHER ROUND - 11/16"
21 71-35-00 2 KIT - CABLE PREPARATION
22 5-12-08 2 CONNECTOR CU-YC2C4
23 5-06-97 1 FAULT INDICATOR - OVERHEAD 60 AMP TRIP
24 1-35-34 0 BRACKET - CLEARANCE
25 1-35-35 1 BRACKET - INSULATING GUARD
26 7-37-06 1 FUSE LINK - 6T
27 1-34-09 2 GUARD CABLE PLASTIC -2 1/2" x 8' (SEE NOTE 3)
27 1-34-11 2 GUARD CABLE STEEL -2 1/2" x 8' (SEE NOTE 3)
28 1-78-38 10 SCREW LAG - 3/8" X 4" (SEE NOTE 3)
28 7-69-64 0.12 SCREW WOOD - #14 x 2 1/2" (100/BOX)
NOTE:
1. RE-USE THE FOLLOWING: 2-12-XX CUTOUT, 6-02-XX ARRESTER,
2-83-02 #2 CU RISER, 2-02-71 LIVELINE CLAMP.
2. IF REQUIRED, USE THE FOLLOWING:
2-12-20 OR 2-12-67 CUTOUT AS REQ’D, 6-02-21 ARRESTER.
3. WHEN PLASTIC GUARDS NOT AVAILABLE USE STEEL
GUARDS WITH LAG SCREWS.
SaskPower - DISTRIBUTION STANDARDS
DRN. DESIGN CHK. APPROVAL SINGLE-PHASE, LOOP FEED
CHKD. CABLE STRUCTURE WITH EXISTING
DATE DATE DATE POLE-MOUNTED TRANSFORMER

DATE OF ISSUE 96-07-26

DRAWING NO: B-12-21 SHEET 1 OF 2

REV. F

39Vd X3dNI OL MOvd



SPC/AUTODRAF T

BACK TO INDEX PAGE

EXISTING
/ TRANSFORMER

@ S\E\O

EXISTING
CuTouT

CABLE
GUARD

ON POLE
REPLACEMENT
2.1m
DISTANCE !
BETWEEN |
MOUNTING ©7° |
BOLTS [ TERMINATORS—
|
|
|
|
e |
: FIELD LOCATE MAINTAINING
| A MINIMUM CLEARANCE OF
| 250mm TO GUY WIRE.
0] |
= |
;J

INSURE SUFFICIENT CABLE
REFER TO A-33 FOR GROUND GRID TYPE. SLACK AT BASE OF POLE
IN CASE OF TERMINATOR

1.

2. REFER TO A-24 FOR FARM METERING. FAILURE

3. CABLE GUARD AND BRACKETS TO BE GROUNDED.

4. EXISTING ARRESTER TO BE MOVED FROM TRANSFORMER TO BRACKET.

5. INSTALL DANGER SIGNS IF MISSING

6. FOR POLE LEAN USE A-32-06 DOWN GUY AND A-32-12 ANCHOR AT THE SHORT GUY DISTANCE.

SCALE: N.T.S. ALL DIMENSIONS ARE IN MILLIMETRES UNLESS OTHERWISE INDICATED

Sask Power - DISTRIBUTION STANDARDS

DRN. DESIGN CHK. APPROVAL SINGLE PHASE, LOOP FEED CABLE
CHKD. STRUCTURE WITH EXISTING
DATE DATE DATE POLE—-MOUNTED TRANSFORMER

DATE OF ISSUE DRAWING NO. B-12-21 SHEET 2 of 2 |REV. E




BILL OF MATERIAL

TEM CODE , QUANTITY DESCRIPTION
1 13408 0 3 CABLE GUARD - PLASTIC - 4" X 8
1 134 09 3 0 CABLE GUARD - PLASTIC - 2-1/2" X &
2 13410 0 1 CABLE GUARD - STEEL — 4" X 8
2 13411 1 0 CABLE GUARD - STEEL - 2-1/2" X &
3 17838 6 6 SCREW - LAG - 3/8" X 4"
4 265 84 3 3 HYLUG — 1/0 (SEE NOTE 2)
5 5 09 XX 1 1 CONNECTOR — AL — CRIMPIT (SEE NOTE 2)
6 512 06 3 3 CONNECTOR - CU - 4C4
7 5 46 18 1 1 STRAP - LEAD
8 76964 0.28 0.28 | SCREW — WOOD - #14 X 2-1/2" (100/BOX)
9 05 640 000 1 1 SIGN — DANGER H.V.
10 | 05646582 1 1 DECAL — WATCH FOR WIRES
NOTE:
1. COLUMN ‘A’ FOR 2.5” DUCT
COLUMN ‘B’ FOR 4” DUCT
2. REFER TO SECTION A-36 FOR SPECIFIC MATERIAL
REQUIREMENTS.
SaskPower - DISTRIBUTION STANDARDS
APPROVAL DESIGN CHK | DRN. PP RUD SECONDARY
L MOEN PPATEL g:;ﬁbz_'\gz TAKE-OFF STRUCTURE
DATE OF ISSUE:_2022-01-10 _| DRAWING NO. _B-12-22 SHEET 1 OF 2 | REV. F

49Vd X3ANI OL Mov4d



e

——mpm———————
Ve

GROUND GRID TYPE C

ATANNY

amtr T

e e il o il

300

00

REFER TO A-08-08, A—-12-51 AND A-33-01C FOR OTHER CONSTRUCTION.

1.

2. REFER TO B-22-10 FOR MAXIMUM SECONDARY CABLE LENGTHS.

3. GROUND BOTTOM OF CABLE GUARD TO GROUND ROD.

ALL DIMENSIONS ARE IN MILLIMETRES UNLESS OTHERWISE INDICATED

SCALE: N.T.S.

LJ
w |
X |«

> 2

x G

AU

S r

ZE |«

(@]

L
nl O A
) O |5
x|l © | J
<| 2 w z
Nl X x
zZ <
< —
T
n

~
R
Z
S T
T
S m
= S
o
= b4
n o
) Z
=
<

4 o
N P )

> |

&

g L

olf &

D < o

Q

X

0p)

O

0 ©
< -

T >

5] o

~

Z N

5o E8

L <|

a a

5

) >

% A

_IH —_—

L

= S

Jolw|w

Z|IX|—|+—

x| I|(<|<

o|Oo|lala

14v8A0LNY/ddS

49Vd X3dNI O1 Xovd




BILL OF MATERIAL

IL%M Cl\?OD.E QUANTITY DESCRIPTION
1 11202 3 BOLT — MACHINE — 1/2" X 2"
2 11312 2 BOLT — MACHINE — 5/8" X 12"
3 134 09 3 GUARD - CABLE — PLASTIC — 2-1/2" X &'
4 13411 1 GUARD - CABLE - STEEL - 2-1/2" X 8'
5 13536 2 BRACKET - RUD - 30"
6 13537 2 GUARD - INSULATING BRACKET
7 17812 2 SCREW - LAG — 1/2" X 4-1/2"
8 17838 8 SCREW - LAG — 3/8" X 4"
9 18501 1/41b | STAPLE — FENCE - 1-3/4"
10 193 30 2 WASHER — ROUND - 9/16"
11 19333 4 WASHER - ROUND - 11/16"
12 19342 2 WASHER - SQUARE - 2-1/4” X 13/16" HOLE
13 21262 1 CUTOUT - LOADBREAK — 27 kV — 100A
15 28304 4m WIRE-CU-#4 -7 STR
16 28402 2m WIRE - CU - #2 SOLID — PE JACKET
18 506 97 1 FAULT INDICATOR — OVERHEAD — 60 AMP TRIP
19 51115 2 INSULINK — ORANGE/ORANGE
20 51201 2 CONNECTOR - CU - 2C2
21 512 06 3 CONNECTOR - CU - 4C4
22 51208 2 CONNECTOR - CU - 2C4
23 546 18 2 STRAP - LEAD
24 73706 X FUSE LINK — TRIP-O-LINK - 6T
24 7 38 06 X FUSE LINK = BUTTON HEAD - TYPE “T” - 6T
25 7 38 00 1 FUSE LINK — SOLID
26 769 64 0.26 SCREWS — WOOD - #14 X 2-1/2" (100/BOX)
27 8 35 36 2 TERMINATOR — #2 AL
28 71 3500 2 CABLE PREP KIT
29 05 640 000 1 SIGN — DANGER - HIGH VOLTAGE
30 05 641 535 1 DECAL - DANGER — UNDERGROUND CABLE
SaskPower - DISTRIBUTION STANDARDS
APPROVAL DESIGN CHK | DRN. PP
L MOEN P PATEL CHKD. LM RUD LOOP FEED TRANSFORMER

WITH CUTOUT

2022-01-07

DATE OF ISSUE: 2022-08-15 DRAWING NO: B-12-23 SHEET1OF 2 | REV. E

3OVd X3ANI OL MOvd



BACK TO INDEX PAGE

AUTO R DRAFT

DISTANCE BETWEEN MOUNTING BOLTS

GROUND _GRID

CABLE GUARD
UNDERNEATH
BRACKETS

5

CUTOUT

FARM OH. SERVICE

e @@

AN/ ARNNN
300

!
100 1000
[}

TYPECI

=S

NOTE:

1.

REFER TO A-33 FOR GROUND GRID TYPE.

TERMINATORS

MINIMUM CLEARANCE
OF 250mm FROM LIVE
PARTS TO GUY WIRES
AND GROUNDED PARTS

LOAD BREAK

EXISTING TRANSFORMER

EXISTING
ARRESTER

30

LOOPED RING

FJeiiihe=r—=

0

Z

GUARD TO BE 150mm
BELOW LEAD STRAP

2. REFER TO A-24 FOR FARM METERING.
3. CABLE GUARD AND BRACKETS TO BE GROUNDED.
4. INSTALL DANGER SIGNS IF MISSING.
5. FOR POLE LEAN USE A-32-06 DOWN GUY AND A-32-12 ANCHOR AT THE SHORT GUY DISTANCE.
SCALE: N.T.S. ALL DIMENSIONS ARE IN MILLIMETRES UNLESS OTHERWISE INDICATED

SaskPower — DISTRIBUTION STANDARDS

DRN. M.T.S. |DESIGN CHK. APPROVAL

CHKD RUD LOOP FEED TRANSFORMER
. WITH CUTOUT

DATE DATE DATE

DATE OF ISSUE: 2007/04/16 DRAWING NO. B-12-23  SHEET 2 OF 2 REV. D




BILL OF MATERIAL

lLI(E)M Cl\(l)OD.E QUANTITY DESCRIPTION
1 11202 2 BOLT — MACHINE - 1/2” X 2”
2 11312 2 BOLT — MACHINE - 5/8” X 12”
3 13409 3 GUARD — CABLE - PLASTIC - 2-1/2" X &'
4 13411 1 GUARD - CABLE — STEEL —2-1/2" X 8'
5 135 XX 1 BRACKET — CABLE POSITIONER
6 13531 2 BRACKET - FOR CUTOUT, ARRESTER, TERMINATOR
7 13538 4 ft WILDLIFE GUARD - RISER COVER
8 17812 2 SCREW - LAG -1/2” X 4-1/2”
9 17838 6 SCREW - LAG - 3/8" X 4"
10 18501 1/41b STAPLE — FENCE - 3/4"
11 19322 2 WASHER - LOCK - 1/2”
12 19327 2 WASHER - LOCK - DOUBLE COIL - 5/8”
13 19330 2 WASHER - ROUND - 9/16"
14 19342 2 WASHER - SQUARE - 2-1/4” X 13/16" HOLE
15 20270 1 CLAMP - LIVELINE
16 20282 1 CLAMP —BAIL —#6 TO 1/0 ACSR
17 21262 1 CUTOUT - LOADBREAK - 27 kV — 100 AMP (SEE NOTE 1)
18 28302 3m WIRE -CU -#2 -7 STR
19 28304 8 m WIRE -CU -#4 -7 STR
20 509 27 1 CONNECTOR — COMPRESSION — ACSR #3-1/0 TO #6-#2
21 51206 2 CONNECTOR - CU - 4C4
22 546 18 2 LEAD STRAP
23 60221 1 ARRESTER - 21 kV (RURAL)
24 7 38 XX 1 FUSE LINK — BUTTON HEAD - TYPE “T”
25 769 64 0.30 SCREWS - WOOD - #14 X 2" HEX HEAD (100/BOX)
26 835 36 1 TERMINATOR - #2 AL
27 713500 1 CABLE PREP KIT
MATERIAL LIST CONTINUED ON SHEET 3
SaskPower - DISTRIBUTION STANDARDS
APPROVAL DESIGN CHK | DRN. PP SINGLE PHASE TAKE-OFF
L MOEN P PATEL CHKD. LM STRUCTURE WITH EXISTING
2022-01-07 OVERHEAD TAP-OFF

DATE OF ISSUE: 2022-08-15 DRAWING NO: B-12-25 SHEET 10F 3 REV. |

39Vd X3dNI O1 MOvd



BACK TO INDEX PAGE

MINIMUM
BENDING
RADIUS 300

Oos—

CUTOUT

CUTOUT

ARRESTER

TERMINATOR

/
/

/
N
EXISTING

OVERHEAD 1¢

(FACING ROAD)

NN/ /A ANNY.

GROUND GRID
TYPE A

SCALE: N.T.S.

ANN\Y

F————

IS
—)

TAP—OFF

|
|
|
b
[
1

TOP _VIEW

NOTES:

1.

2.

DRAWING ALSO SUITABLE FOR A 3
PHASE TANGENT STRUCTURE.
GROUND BOTTOM OF CABLE GUARD
TO GROUND ROD.

TRENCH FOR CABLE TAKE-OFF TO
BE INLINE WITH OVERHEAD CIRCUIT
FOR AT LEAST 1.2m TO HELP AVOID
LEAN DUE TO TRENCH BACKFILL.
REFER TO A-12-08 FOR A SINGLE
PHASE (OVERHEAD) TAP—OFF AND
A—26-01 FOR A CUTOUT SINGLE
PHASE TAP.

ALLOW 5-6 INCHES BETWEEN RISER
COVER & CUTOUT FOR GROUNDING.
REFER TO B-12-38 FOR
TERMINATION DETAILS.

ALL DIMENSIONS ARE IN MILLIMETERS
UNLESS OTHERWISE INDICATED.

B12_25_02

SaskPower — DISTRIBUTION STANDARDS

APPROVAL
L.MOEN

DESIGN CHK.
O.FRANCIS

DRN.D.REDEKOPP
CHKD.

2020-08-31

SINGLE PHASE TAKE-OFF
STRUCTURE WITH EXISTING
OVERHEAD TAP-OFF

DATE OF ISSUE 2021-01-20

DRAWING NO. B—12-25

SHEET 2 of 3 REV. F




BILL OF MATERIAL

39Vd X3dNI O1 MOvd

ILI(E)M Cl\?OD.E QUANTITY DESCRIPTION
28 05 385 151 - TAG HOLDER — ALUMINUM - FOR 10 - 1" TAGS (SEE NOTE 3)
29 05 385 20X - TAG - NUMBER - YELLOW (SEE NOTE 3)
29 05 385 209 - TAG — DASH - YELLOW (SEE NOTE 3)
29 05 385 25X - TAG — LETTER — YELLOW (SEE NOTE 3)
30 05 638 32X 3 DECAL - NUMBER - BLACK - 1-1/2" (SEE NOTE 2)
30 05 638 329 1 DECAL - DASH - BLACK -1-1/2" (SEE NOTE 2)
30 05 638 4XX 5 DECAL - LETTER - BLACK - 1-1/2" (SEE NOTE 2)
31 05 640 000 1 SIGN — DANGER - HIGH VOLTAGE
32 05 640 006 1 SIGN - BLANK — REFLECTIVE - 3" X 18" (SEE NOTE 2)
33 05 641 535 1 DECAL — DANGER — UNDERGROUND CABLE
NOTES:
1. LOADBREAK CUTOUT IS CAPABLE OF ACCOMMODATING UP
TO 2/0 CU (STOCK CODE 28320). HOWEVER, THE
CONNECTORS, TERMINATOR SIZE & RISER AMPACITY MUST
MATCH THE UNDERGROUND CABLE. THE RISER TO THE
SURGE ARRESTOR MUST REMAIN #2 CU DUE TO SIZE
RESTRICTIONS.
2. REFER TO A-30-05 FOR APPLICABLE STOCK CODES &
MOUNTING DETAILS. CONFIGURATOR DEFAULTS TO
THIS OPTION.
3. WHEN SPACE IS AN ISSUE THIS TAG HOLDER MAY BE
USED INSTEAD OF THE REFLECTIVE SIGN. REFER TO
A-30-05 FOR MOUNTING DETAILS & B-30-26 FOR
APPLICABLE STOCK CODES.
SaskPower - DISTRIBUTION STANDARDS
APPROVAL DESIGN CHK | DRN. PP SINGLE PHASE TAKE-OFF
L MOEN P PATEL CHKD. LM STRUCTURE WITH EXISTING

2022-01-07 OVERHEAD TAP-OFF

DATE OF ISSUE: 2022-08-15 DRAWING NO: B-12-25 SHEET 3 OF 3 REV. B




BILL OF MATERIAL

ILEOM CNO(I)D-E QUANTITY DESCRIPTION
1 11202 20 BOLT - MACHINE - 1/2” X 2”
2 11208 6 BOLT — MACHINE — 1/2" X 8”
3 11412 4 BOLT — MACHINE - 3/4" X 12"
4 12131 3 PLATE - ADAPTER
5 129 09 2 CROSSARM - COMPOSITE - 4" X 5" X 10'
6 134 08 3 GUARD - CABLE — PLASTIC - 4" X 8'
7 13410 1 GUARD - CABLE — STEEL - 4" X 8'
8 135XX 4 BRACKET — CABLE POSITIONER
9 135 32 8 BRACKET- X ARM FOR CUTOUTS, ARRESTORS OR TERMINATOR
10 178 38 6 SCREW - LAG - 3/8” X 4”
11 185 01 1/21b | STAPLE - FENCE - 1-3/4"
12 19322 14 WASHER - LOCK - 1/2”
13 193 26 20 WASHER - LOCK — DOUBLE COIL - 1/2"
14 19328 4 WASHER - LOCK — DOUBLE COIL - 3/4"
15 19330 30 WASHER - ROUND - 9/16” HOLE
16 193 42 4 WASHER - SQUARE - 2-1/4” X 2-1/4” X 13/16" HOLE
17 19415 4 CLIP - GROUND WIRE
18 2 65 87 10 HYLUG - CU/AL - 4/0 STR
19 27176 3 DISCONNECT — SOLID BLADE - 25 kV — 600 AMP
20 2 83 04 16 m WIRE - CU - #4/7 STR
21 298 01 11m WIRE — CU — #4/0 19 STRAND BARE
22 506 97 3 O/H FAULT INDICATOR
23 509 48 3 CONNECTOR - AL - CRIMPIT — ACSR 4/0-477 TO 4/0-477
24 51202 4 CONNECTOR - CU - CRIMPIT - 3/0-4/0 TO #4-#2
25 512 06 8 CONNECTOR - CU - 4C4
26 546 18 2 LEAD STRAP
27 6 02 21 4 ARRESTER - 21 kV (RURAL)
28 7 69 64 0.40 WOOD SCREW - #14 — 2" HEX HEAD (100/BOX)
29 7 69 65 4 SCREW - SELF DRILLING — 1/4” X 1”
MATERIAL LIST CONTINUED ON SHEET 3
SaskPower - DISTRIBUTION STANDARDS
APPROVAL DESIGN CHK | DRN. OFF RURAL 3@, SOLID BLADE DISCONNECT
L MOEN 0. FRANCIS | CHKD. LM SINGLE-CIRCUIT REVERSE TAKE-OFF
2020-12-03 STRUCTURE WITH SPARE CONDUCTOR
DATE OF ISSUE: 2021-01-20 DRAWING NO: B-12-36 SHEET 10F3 REV. B

39Vd X3dNI OL MOvd



BACK TO INDEX PAGE

v vl3a 33S

GUARD TO BE BUILT
ON SIDE AWAY
FROM TRAFFIC

D
o)l

(FACING ROAD)

SECONDARY
LEVEL

1.5m

DETAIL A

N7, NN
100
GROUND GRID =~  GROUND BOTTOM
TYPE "A OF CABLE GUARD
TO GROUND ROD
NOTES:

APUWN

. RURAL MINIMUM 12.2m (40") POLES. RURAL RADIALS ONLY.

. LOAD SIDE STRUCTURE. SPARE CABLE TO BE CONNECTED SOURCE SIDE ONLY.
. WARNING: SPARE CABLE IS NORMALLY ENERGIZED.
. TRENCH FOR CABLE TAKE-OFF TO BE IN LINE WITH OH CIRCUIT FOR AT LEAST 1.2 METERS TO HELP

AVOID POLE LEAN DUE TO TRENCH BACKFILL.

RURAL 39, SOLID BLADE DISCONNECT
SINGLE-CIRCUIT REVERSE TAKE-OFF

5. REFER TO B—-12-38 FOR TERMINATION DETAILS.
6. ALL DIMENSIONS ARE IN MILLIMETERS UNLESS OTHERWISE STATED.
SCALE: N.T.S.
SaskPower - DISTRIBUTION STANDARDS
APPROVAL DESIGN CHK. DRN.D.REDEKOPP
L.MOEN L.MOEN CHKD.
2021-01-06

WITH SPARE CONDUCTOR

DATE OF ISSUE 2021-01-20

DRAWING NO. B—12-36

SHEET 2 of 3 REV. B




BILL OF MATERIAL

ILI(E)M C,\?g'E QUANTITY DESCRIPTION
30 8 35 XX 4 TERMINATOR - CABLE
31 71 3500 4 CABLE PREPARATION KIT
32 05 385 151 - TAG HOLDER — ALUMINUM — FOR 10 — 1" TAGS — SEE NOTE 2
33 05 385 20X - TAG — NUMBER - YELLOW - SEE NOTE 2
33 05 385 209 - TAG — DASH - YELLOW — SEE NOTE 2
33 05 385 25X - TAG - LETTER - YELLOW — SEE NOTE 2
34 05 638 32X 5 DECAL - NUMBER - BLACK — 1-1/2" — SEE NOTE 1
34 05 638 329 1 DECAL — DASH - BLACK - 1-1/2" — SEE NOTE 1
34 05 638 4XX 3 DECAL — LETTER - BLACK - 1-1/2" — SEE NOTE 1
35 05 640 000 1 SIGN — DANGER - HIGH VOLTAGE
36 05 640 006 1 SIGN - BLANK — REFLECTIVE — 3" X 18" — SEE NOTE 1
37 05 641 025 1 DECAL — DANGER 25000 VOLTS
38 05 646 582 1 DECAL - WATCH FOR WIRES
NOTES:
1. REFER TO A-30-05 FOR APPLICABLE STOCK CODES &
MOUNTING DETAILS. CONFIGURATOR DEFAULTS TO
THIS OPTION.
2. WHEN SPACE IS AN ISSUE THIS TAG HOLDER MAY BE
USED INSTEAD OF THE REFLECTIVE SIGN. REFER TO
A-30-05 FOR MOUNTING DETAILS & B-30-26 FOR
APPLICABLE STOCK CODES.
SaskPower - DISTRIBUTION STANDARDS
APPROVAL DESIGN CHK | DRN. OFF RURAL 3@, SOLID BLADE DISCONNECT
L MOEN 0. FRANCIS | CHKD. LM SINGLE-CIRCUIT REVERSE TAKE-OFF
2020-12-03 STRUCTURE WITH SPARE CONDUCTOR
DATE OF ISSUE: 2021-01-20 | DRAWING NO: B-12-36  SHEET 3 OF 3 REV. A

39Vd X3dNI OL MOvd



BILL OF MATERIAL

IL%M C,\?g'E QUANTITY DESCRIPTION
1 11202 20 BOLT — MACHINE - 1/2” X 2”
2 11314 2 BOLT — MACHINE - 5/8” X 14”
3 11316 2 BOLT — MACHINE - 5/8” X 16”
4 11412 4 BOLT — MACHINE - 3/4” X 12”
5 129 09 1 CROSSARM - COMPOSITE - 4” X 5” X 10°
6 13408 3 GUARD - CABLE - PLASTIC - 4” X 8’
7 13410 1 GUARD - CABLE - STEEL - 4” X &
8 135 XX 4 BRACKET - CABLE POSITIONER
9 13532 8 BRACKET — CROSSARM
10 13538 11m | WILDLIFE GUARD - RISER COVER
1 178 38 6 LAG - SCREW - 3/8” X 4”
12 185 01 0.25LB | STAPLE — FENCE - 1-3/4”
13 18502 20 STAPLE — MOULDING
14 193 22 8 WASHER - LOCK - 1/2”
15 193 26 20 WASHER - LOCK - DOUBLE COIL — 1/2"
16 19327 4 WASHER - LOCK - DOUBLE COIL - 5/8”
17 193 28 4 WASHER - LOCK - DOUBLE COIL - 3/4”
18 19330 30 WASHER - ROUND - 9/16” HOLE
19 193 42 8 WASHER - SQUARE - 2-1/4” X 2-1/4” X 13/16” HOLE
20 19415 4 CLIP - GROUND WIRE
21 227 00 3 MOULDING — GROUND WIRE
22 2 65 XX 10 HYLUG — SEE NOTE 1
23 26945 1 SWITCH - GOPT — 25 kV - 600 A
24 28302 13m | WIRE — CU - #2/7 STR
25 298 01 11m | WIRE - CU - 4/0 19 STR
26 506 97 4 O/H FAULT INDICATOR
27 509 2X 4 CONNECTOR - AL — CRIMPIT — SEE NOTE 1
28 512 01 4 CONNECTOR - CU - 2C2
29 512 02 4 CONNECTOR - CRIMPIT — 4/0 TO #2
30 546 18 2 LEAD STRAP
31 6 02 21 4 ARRESTER - 21 kV (RURAL)
32 7 66 00 1 PADLOCK
33 7 69 64 0.41 SCREW - WOOD - #14 X 2-1/2” (BOX)
34 7 69 65 4 SCREW — SELF DRILLING — 1/4” X 1”
35 8 35 XX 4 TERMINATOR
36 71 3500 4 CABLE PREP KIT
SaskPower - DISTRIBUTION STANDARDS
APPROVAL DESIGN CHK | DRN. OFF RURAL 3Z GOPT
L MOEN O FRANCIS | CHKD. LM TAKE-OFF STRUCTURE

2020-12-04

WITH SPARE CONDUCTOR

DATE OF ISSUE:

2021-01-20

DRAWING NO: B-12-37

SHEET 1 OF 3

REV. B

39Vd X3dNI OL MOvd



BACK TO INDEX PAGE

NOTE
1.
2.

Rl

3.
6.

7.
8.
9

S: LD

GROUND GRID
TYPE "C” WITH
#2 cu

X

—
ey
1

O

U—-BOLT CLAMP AND
GROUNDING STRAP
SUPPLIED WITH SWITCH

/g DOUBLE WASHER
/AND WRAP GROUND

EF=)

O\

WIRE AROUND ONE

p TURN, CARRY ON AND
CRIMP TO SWITCH
GROUND WIRE THEN
OVER TO BOTTOM BOLT

111_&"

=

ANN< WITH GROUND STRAP

:

ﬁ

LOCATION OF GROUND GRID IS DEPENDENT ON LOCATION OF SWITCH HANDLE AND DRIVE BAR.
FOR ROTATION TYPE HANDLE MOVEMENT, MOUNT AT HEIGHT
SHOWN. FOR PULL DOWN TYPE, MOUNT SO THAT THE HANDLE CLEARS THE GROUND AND IS NOT TOO HIGH

ALWAYS INSTALL WITH SWITCH HANDLE UP.

WHEN UP.

REFER TO SECTION A—33 FOR GROUNDING DETAILS AND GROUND GRID TYPE "C"

TRENCH FOR CABLE TAKE—OFF TO BE INLINE WITH OVERHEAD CIRCUIT FOR AT LEAST 1.2m TO HELP AVOID
LEAN DUE TO TRENCH BACKFILL.
RURAL MINIMUM 12.2m (40") POLES. RURAL RADIALS ONLY.
NO JOINT USE TAKEOFFS OR SECONDARY TAKEOFFS ARE ALLOWED ON THIS STRUCTURE DUE TO CONGESTION

ON THE POLE.

SOURCE SIDE STRUCTURE. SPARE CABLE CONNECTED THIS SIDE ONLY.

ALLOW FOR 150mm BETWEEN RISER COVER AND GOPT HYLUG FOR GROUNDING.
. REFER TO B-12-38 FOR TERMINATION DETAILS.

10. ALL DIMENSIONS ARE IN MILLIMETERS UNLESS OTHERWISE STATED.

RURAL 3o GOPT
TAKE—-OFF STRUCTURE

SCALE: N.T.S.
SaskPower — DISTRIBUTION STANDARDS
APPROVAL DESIGN CHK. |DRN.D.REDEKOPP
L.MOEN L.MOEN CHKD.
2021-01-06

WITH SPARE CONDUCTOR

DATE OF ISSUE 2021-01-20

DRAWING NO. B—12-37

SHEET 2 of 3 REV. C




BILL OF MATERIAL

ILI(E)M C,\?g'E QUANTITY DESCRIPTION
37 05 116 362 1 DISC - PHASE MARKING - BLUE
38 05 116 366 1 DISC — PHASE MARKING - RED
39 05 116 368 1 DISC — PHASE MARKING - YELLOW
40 05 385 151 - TAG HOLDER — ALUMINUM - FOR 10 — 1" TAGS - SEE NOTE 3
41 05 385 20X - TAG - NUMBER - YELLOW - SEE NOTE 3
41 05 385 209 - TAG - DASH - YELLOW - SEE NOTE 3
41 05 385 25X - TAG - LETTER - YELLOW — SEE NOTE 3
42 05 638 32X 3 DECAL — NUMBER - BLACK - 1-1/2" — SEE NOTE 2
42 05 638 329 1 DECAL — DASH - BLACK - 1-1/2" — SEE NOTE 2
42 05 638 4XX 5 DECAL - LETTER - BLACK - 1-1/2" — SEE NOTE 2
43 05 640 000 1 SIGN — DANGER - HIGH VOLTAGE
44 05 640 006 1 SIGN - BLANK — REFLECTIVE — 3" X 18" — SEE NOTE 2
45 05 646 582 1 DECAL - WATCH FOR WIRES
NOTES:
1. REFER TO SECTION A-36 FOR SPECIFIC MATERIAL
REQUIREMENTS.
2. REFER TO A-30-05 FOR APPLICABLE STOCK CODES &
MOUNTING DETAILS. CONFIGURATOR DEFAULTS TO
THIS OPTION.
3. WHEN SPACE IS AN ISSUE THIS TAG HOLDER MAY BE
USED INSTEAD OF THE REFLECTIVE SIGN. REFER TO
A-30-05 FOR MOUNTING DETAILS & B-30-26 FOR
APPLICABLE STOCK CODES.
SaskPower - DISTRIBUTION STANDARDS
APPROVAL DESIGN CHK DRN. OFF RURAL 3Z GOPT
L MOEN 0. FRANCIS | CHKD. LM TAKE-OFF STRUCTURE
2020-12-04 WITH SPARE CONDUCTOR
DATE OF ISSUE: 2021-01-20 DRAWING NO: B-12-37 SHEET3OF 3 | REV. B

39Vd X3dNI OL MOvd



BACK TO INDEX PAGE

r
g Q‘bj
!
& {SEDAN
50 -
i
_.//——m\\,s
LD LD
DETAIL A DETAIL B
CROSS ARM BRACKET FLIPPED UP CROSS ARM BRACKET FLIPPED DOWN
NOTES:
1. REFER TO DETAIL B WITH CLEARANCE ISSUES INVOLVING APPARATUS.
2. ALL DIMENSIONS ARE IN MILLIMETERS UNLESS OTHERWISE STATED.
SCALE: N.T.S. B12_38_01
SaskPower - DISTRIBUTION STANDARDS
APPROVAL DESIGN CHK. |DRN.D.REDEKOPP
L.MOEN 0.FRANCIS CHKD. CABLE TERMINATION DETAILS
2020-08-31
DATE OF ISSUE 2021-01-20 |DRAWING NO. B—12-38 SHEET 1 of 1 REV. —




	B-12-INDEX
	B-12-00
	B-12-10
	B-12-11
	B-12-12
	B-12-13
	B-12-15
	B-12-16
	B-12-20
	B-12-21
	B-12-22
	B-12-23
	B-12-25
	B-12-36
	B-12-37
	B-12-38



